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A department of transportation plans to take the hatched 
area shown for a 100’ road right-of-way. The beginning of the 
curve on the left side passes through the southwest corner of 
the property, and the centerline passes through the southeast 
corner of the property. 

What is the area bounded by the 100-foot right-of-way and the 
property lines? 

If the DOT also took the segment southerly of the 100-foot strip, 
what is its area?
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In the ziggurat diagram, the length of DC = 2.

1.	 Determine the coordinates of each of 
the points A to F given that the origin of 
coordinates is at point O.

2.	 Use these coordinates to calculate the 
angle of each relative to the base OG.

3.	 Compare these results to the zonal angles 
(33, 51, 57, 63, 69, 75 degrees).

S
17°02'05" E

N 47°5
9'13" E

50'
50'

S 85°43'05" E 496.28'
N

11
°4

5'
38

" E

PROBLEM NO. 226

A Department of Transportation plans to take the hatched area shown for
a 100' road right-of-way.  The beginning of the curve on the left side passes
through the southwest corner of the property and the centerline passes
through the southeast corner of the property.  What is the area bounded
by the 100 foot right-of-way and the property lines?  If the DOT also took
the segment southerly of the 100 foot strip, what is its area?

B.C.


